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QULS LION 4 :

a. With the provided line numbers (1o the lefl) state one line number and the error

presents. (6 marks)
Ans: Line | is a syntactic eupl a class declaratlon inust not begin “lill a "“ﬂibﬂ

b. Assuming a successful compllﬂtlon write uut the output of your debugg?d_[awfa
rogram. (4 marks) : L ,
lei\WﬂQUl‘.SllUﬂ i # Ans%er: f l

puhlic static v bidl mnmLSlrmg[j args) |
g :
int a,b,‘.ﬁd,e,l__g‘; :

int x=3;

int y=8;

am= X - h=ye- e=tkx: =y

Sy stem.outprintingL. "2, 13 ek 0 d); r
. a=d: 2 3
d=ell;
L=f ‘
syvalem.out.printing"s."te);
. Dwoplean h=5<20;
nem.Qul prmtln
; tiouble k= !
kT 53skem.uul.prinl.ln{"
18}

\anqm:-'l_"'f‘".u,—

= -

3¢
!

s i Rl
u-Fsl-d!Q—-

-
=

r SECI'I(?N %2
QULS] (#y 5,
| G-+ progrdtinthat pfi sﬁ(shuw
: reummder of thb ml&gﬁts




..”\\-yl"ﬂl

A HNO LOGY \

" WSITYOF TEC NIC ENGINELRING

& et lﬂ“il!uh AL AND ELECTROMNI ENGINI

; MINT OF ELLEL \ TIOMN

; A l‘ : EMESTIR 201372014 EX ANVIINATION
HAIN SEN ) i

ML (> ‘nl'l’l;l(,.ﬁh‘l{]”
ML ER 1‘|\|ll1|\-'\!\|‘\|”‘i{.I"'“ Ii“vlr‘“]lrlfl‘[‘”'J: "““‘7 jru
b ‘\|l‘ "‘-I“‘ ATNSWIER ALl lll”'ﬁt“”"'\ 1IN Al L. &) € &',] s
INSTILL Live | \

: r
EUTION Afl maricacivy Wm}”wz 4 i3
5 Canvenienl abstraclions nsed i
: llection of one or moie subprograimns called . 2., 0on
\ P pTOegramds a ¢ i

a| T ‘U} LS . | & 'I.'".{ ’J E!l i I y
d ; e program statem nis thi e s
’ miput a id ,Uﬂh are Ce Ht'l 7' A e } s ) euin w u'l l

FRET 1O T T ;| 1} <

L v ] *5. The information that
ut ar i m.”,,i“‘&fﬁty‘ul |!‘Mﬂ’1“ that must be used to saye @ Co=+ program. ~ 5 ': . } :
¢ called_PepA o oy g s called VO V4 represented as __0_ . 7, A chig
aared in an unspecified Jocation in camputer \pgary I8 called “Z (nitialize vasiables amC'Ll?flfa ;
R s I 1 i SAnaie “In C4+, the three ways 0 inilia A —
R e ; |. 3 |r extension. 1% '&VQ virtual machine converts bym
NVE ~ 3 i b A e D & f Y 2 "
1 M1, 5 compiled java source code 1as _ S e &Am;&g '\‘?I%U'a.i riachine is Toachine (i
to MAduA N Eve vy java programmnie must be wiilten in a __'_i- 9. J ' identifies is i d up of
Treeglse Bt +5. All Java coades must be saved with AT c.oafernmfll- _ lﬂfé:{;‘qw' ?5}{;% e
iwnbers, unde:. wre or § sign Yaue/False. 17. IDE is an acronym.for . . -d\lfa F E.d oyl ;;:l poi
19. Break, jut, +fuse are examples of key words TouesFalse. 20 {pks  is an example of a data typ

SECTION B '

1a What is wrong wilh this program?(2mks)
#Funclude<iostream:

§-u fot main ( );
5_?% (
4 .-
| T O
% < .?'.J\.“'\I'I":-{L'ﬂdl,
ietwin U;
| l b._Answer TRUE of FALSE (6 rarksy) ng ; i
g . i A sting is a set of chavacters. ij. The keyword vaid stands for Valueless. ii. Varisble declaration is 1
d as initializaiion. iy. A constant once delined can b ed &t any point in the program. v, Equivalemt n
. lenguage program is called an object program, vi. Sgmicolon acts like an Lperalor on an expression.
o ¢ What is the sutpui of the folloving program?(2pmes) i o) S B i
i ; Hljlduﬁefiosueam?
lul main( ) i
‘. 1 Feigy
'5 Heoul<< “Futo, Qvwerii? << endl;
return 0; ¥
‘ )

1. Given the equat on of mofo maving body, v =u+ al, where v = final veloci

acceleraiion an'! L = time, cousifler parametric values (o be the last three digits of y

iE aand L write a | -+ pw to display the v@g:;sl of these parameters (using the :

< B calculate dhe fical velocity] v of the body. Forilie students without Matriculation
3 of Futa Pryvare Mail Box (528). (10 marks) 0 e

f‘ ; - SR v H
= X
X

g 3. Write de.éiakétigns, stalements or comments that accomplish each of thgfau

ol ¥, zand result 10:be of type int, b, Let X 1K XX Xs X, represent the last
) : then do the following; i. Asslan the values in positions X, X, 1o variable
3 . ' 1o y, ili. Assig, the values in positions X, X, 10 2 e. Compulte the '

varisbles x, ¥ . 1d z and assign the result 10 the variable result. d D
value of the va:iable resulr, :

o
= -l

4 Answer TRU. £FALSE (10 1narks) i, Comments caus
—When the progr. v executes. ii. All variables imust be gi
variables numb - dnd NuMBer (0 be id ntical. iv.
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TN ISIPRAT TP A RWME R | I Q)1 E ST N SYNPALL SECTIE 1

SSECTIONEA I deir iepetth [EPOIKS )
3. tpelloworld” consistsof _ I~ string*iit&rals?‘
2, mmf is necessary for a C++ program to have output . R
3 All string of characters must be enclosed in _ R ¥
} Anothet name for insertion uperatorm N qqﬁ#ssymbolizpd as ;gg__ 5 ‘
6. A string that contains zero character is called g ' "
‘“.;.\'- 7. L> is used to indicate that a written pro i chn C++ Inhrary file
L. 8] A C++ program must be saved with the file extensm@ e, ;
9. ; _zj is used to enclose the body of the m{glﬁ | @ rh@: rogramni
10 M[[m, is used as a statemenl tenmnator In rogram :
: 11, J2ME means_JTaua L MIGD Bditton - a
| i Java virtual machine converts byte codes t m&
l 13. The unary operalor ++x meari’ii'% on DE‘E' A %m {JW“‘
| 14. A java program is written cm%e ant an any devrce True/False _ gf
15. TheIDE used for wrutmg;au%j desdn'Ehg 214is __ Mok-bean
16, A variable is declared by & Al i W?
17, Ajava cldss can have onlyznd
) 18, /* and */ are used for (ommenks
19; Boolean Is an examp Trueq
20,  Thereare L4 P imitive data types.
SECTION B -.
13; W lfﬂﬁth a:output of tnis program? (2viks)
It main ()
{¥ b
\ 5 il
; n =14l Q
Cout Z2mgs end
retdrn 0; : %

A :
1b. Amﬂfumma«mks)
‘ i. Th!«:ands‘ are not part of file name 7Tnles

Gamments—arelnot lgnmd—bwa compiler FEUSE PN
W" ‘called-an object program M
ﬁhanmdmnot be used i1 a program statement as part of a tring
Every C++ program has a function called Main  Tyyg,
is not case sensitive Falae
written in,wa m‘

[l




i . é . . . > Y
Vi A constont once defined can be changed at any point in the program hll:ét’.

1¢. Correct the nioe errors in the javacodes below, if debugged, write the output (5Marks) | 3 L

// A programi - that computes frictional force experienced by a bady on a rough surface :
publicclas2Fric v onalForce |
public static void main (string | ] args) { }
Int m = 85; doubile mui = 0.3 double g = 9.81;
System, Out.Printin(*The body with mass °
“m*oaalrg + "N H

1d Answer TRUE/FALSE (5 Marls)

¢

+m + “Kg suffers an opposing frictional force of

Ik The If/Else loop is an example of a decision makmg structure

il A data type of a variable can be changed by casting

iil. Anidentifier can be a keyword  ¥glge b

v, The bitwise operator (|) and Boolean aperator (] |) are used srady. _Same purpose.

Ve 0.07 can be assigned as a float or a double. ety (rue

SECTION C
Question 2 (10Mks)
Given the equation for the area of a trapezium as 0.5 (a + b) h,
trapezium and his d.: height of the trapezium. Let the parametri
digits of your Matriculation Number. Write a Ch%ogram td dis
{using the variable let ers only) and also compute L pri F
without Matriculatic & Number, use the thiee digits of th -]

Question 3 (L0MKs)
loskie Enterprise is @ manufacturer of quality plas

to write a program using for Ig?s in java thayco
total quantity (Q) uf chairs i -ases bv 10;

3 and b are the sides of the
es (a, b and h) be the last three
ay Lhe values of these parameters
(A) of trapezium. For the students

s the profit made by the company. Assume t
rly due to increased demand. The fixed cost (F) d g

your plugl am should d|..p| /
— (F + v@)). Those without

4.._ iostream

5. o << »

6. Uninary ‘“""'ﬂ gt \h\oﬁ_

7. #include 3 &

mm!




14 rue
15 NET- REAN

16 [vping emodifiers*-

1 One main -Method

| o Miti = lne cormmment
19 Trwe e, 8

- SECTION:B
1a Cont << x> enfddl;
22 g \ . ;
1hi.  True i, False iii.  True iv. Falg;% v True
vi. False vii, True viii. False
1
1ci. There should be a space between public and class, .f
i. Also space between class and frictional fii, Uppercase ;
., There shouldn’t be curly brace in front of (String [ | args) |
V. There should be one curly brace down after (String [ ] args) I
vi. The Int should start with small letter ,
vii The Out should be smiall letter R l
wviil, There should be semicolan after double mui O Bller X g L/
ix. The curly hrac“ should go down after the oulpuL i\ ;g ' V.
i N, e
Qutput hit ; W:
System.out Printin “The body with mass +m + "Kg'suff ai'g%ﬁp'pusing frictional < ~ce of “ + m* muij * B
3 nr_lj-r}‘ i
e ik G Trie | : iv. True v. True
g ,f}”‘-'
! SECTION € )
‘ G.‘ij 5 SOLUTION
t b
] / This program to calculate Ar
#include <ﬁg,§gje'ﬁ 1>

Using namesp ceﬁgtd

Int Maini{ ) fﬂ'%

{ % | nﬁ
-ﬁ‘lﬂt’é'ﬂé f?’\ql‘;m eb5, 8 3 J!fr\c-_ last 3 digits of my Mat no,
.’ .Iln%hr: 8:"%@ "H'W# -

L fnkh.,- 3: " L
W, Dc’:iil‘q e; Arﬁ ‘
Area =10,5 éjﬁ-i-b) it
Cout <<'ﬁ

Cout << |3;

% Count << h;
Count << Area ;
}
Return O;
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RAIN SEMESTER EXAMINATION 2016/2017 SESSION .
ENG 114 (COMPUTER PROGRAMMING FOR ENGINEERING APPLICATION) [ UNITi2 W, N
INSTRUCTION: ATTEMPT ALL QUESTIONS IN ALL TIIE SECTIONS. TIME ALLOWED: 2 HOURS

SECTION A [20imarks) : \:g‘%‘i
L Tne symbol >> is called b . \'..;J
d A 15 @ sequence of statements that is treated as a single statement X o
3. C+ thas number of keywords

4. A compiler converts a high level language into equivalent machine language program called__

5. All siring of characters written must be enclosed in D 3 5

6. When charactors arc used as individual objects, they must appear as

7. A string that contain zero character is called_ andisrepresentedas 8

Y In C++, the three ways to initializc variables are e 18 gl

12, A character constant is a character enclosed in S
13, Varable identifiers shall always begin with a

14 Input extraction strcam statemen’s a:¢ expressed as P 0 S
15 The programs written in a high-1.ve! language are developed using
16. A variable is a portion of memory used to store
I 7. A program that loads an exccutable program into main memory is called
I8 The syntax for do-while loop is:

19. An objeet’s value and type can be determined by the "’ Y el

200 Lot s an example of a jump statement

SECTION I (Answer TRUE or FALSE) (10 marks)

. InC4++, input is analogous to output TRUE OR FALSE

I'he pre-processor directive is required in any program that uses Cin OR Cout FRUE OR FALSE:
ln C .+, the angle bracket < are pait of the file name TRUE OR FALSE
L+t 1s not case sensitive TRUE OR FALSE gy
Constants wre usually declared aficr the main function. TRUEOR TFALSE+ )
The type of an object can be changed by type casting TRUE ORFALSE/
Every izerative structure must contain an update for the control variable. TRUE OR FALSE.
The while loop and the do... while loop are the same. TRUE}FQR FALSE ‘
- Re=al numrber types supported by C++ are float, double a_n_;liohg float. TRUE OR FALSE ¢
10. The size of & data type is determined by the size of operator. TRUE OR FALSE

ECTION C (10 marks)

- Wric a C++ siatement that subtracts the sum of x.and yArom z and then increments y (2marks)
- Wrii a singlc ++ statement that decrements the-viiriable n and then adds it to A (2 marks)

- What iy the oviput from the following program? (2 marks)
#include <iostream>

o v 1J =—

&\ "

L o =@ Lo

3
1
2
3

using naipespace sid; . i
i () £ i
/4 cout=< “hello, world” <<endl;

retlurn ();

} (A ’I;jl('i-l)]
-4. Whal is wrong in this program (2 marks) 5 ¥

“
#include iostream p ¥ i
using namespace sid; : :
main ( )
{
n=22;
coul<<p<-endl;
return 0;

5. Whal is wrong with this declaration? ldentify the error and ellect the correction, (2 marks)
int x= y=22,

SECTION 1 (20 marks, each question carries 10 Marks)
¢ (A) Giventhe e quation for the area of a trapezium as 4 = 0.5(a + b)A, where a and b are the si
height of the irepezium. Let the parameters a, b and h be the three digits of this course code 1

lo prmt the ares of the trapezium
’ il' iy

(B) Writ: a C++ program using any iterative loop to solve and display the result
beiow (ensurc you write the displayed result):
A tolt and nutis 10 be loosed by a set of spanners that differ in :
(A typical 10 - 11 spanner) and the required torque needed to
force needed 1) be applied perpendicular to the spanner’s end |
you infer fiom the result? [ Torque (Nm)= Foree (N x IX

F e

it (el
B

i F B F...'I.-' M




SECTION A (20marks)

- R PN

.3
.
10,
11.
14.

15.

16.
17.
18.

19. Variable identifiers shall always begin with a
20 A character conslant is a character enclosed in

SECTION B (Answer TRUE or FALSE) (10 farks)

.

2. Every ilerative structure must initialize the control variable, T
3. The Extraction Operator is same with input operator *(
4. The size of a data type is determined by the size of operator .
5. A compound statement is a sequence of statement treated a e'statement T
6. Real number types supported by C++ are float, double oat, TRUE OR FALSE r
7. In C++, the angle bracket <> arz part of the file name N‘VE
8. C++ is nat case sensitive \,
9. C++ has four (4) iteration statements
10. The while loop and the do... while ioop are the
SECTION C (10 marks) D | '
(a) Underline the errors in the following C++Program below, Rewrite the debugged program
displayed. (6marks) OO '
1 #include<iostresin> X
2 using namespacc sd; "“::;f‘ i
3 int main iS_)__ ha g
458
5 intx=2,y=5,z=5;
6 Z+=10;
7 cout<<Hx << <<y-.<""<<z<endl;
8 }

SECTION D (20 marks, each question carries 10 Marks)

;ﬁ%‘."&a‘mﬁi\&uw.-ﬂ . :—-_;‘E il -
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FEDERAL UNIVERSITY OF TECHNCLOGY, OWERRI,
DEPARTMENT OF ELECTRICAL/ELECTRON'C ENGINEERING
e RAIN SEMESTER EXAMINATION 2017/2018 SESSION
ENG 214 (COMPUTER PROGRAMMING FOR ENGINEERING APPLICATION)
INSTRUCTION: ATTEMPT ALL QUESTIONS IN ALL THE SECTIONS. TIME ALLOWED: 2 HOURS

A _ 1= a sequence of statements that is treated as a single statement

C++has _ number of keywords

A vanable is a portion of memory used 1o store

When characters are used as individual objects, they must appearas

The statement executes one of two alternative staternents according to the value of specified condition

A C++ program is a collection of one or more subprograms, called

A variable identifier written in capital letiers is equivalent to another one of same name in small letters. TRUE or

FALSE?

Constants are usually declared after the main function; TRUE or FALSE?

The three logical operators that represents “and”, “or’ and “not” for compound conditionsare__,  and
is used to combine several statements to execute within a loop.

A loop is controlled by three separale parts y 12 and__ 13

Another name for insertion operator is called

Which of the following data is not a data type (a) Float (b) Bool (c) Char (d) Doub () Yoid.

A combines the object program with the programs from libraries
An object’s value and type can be determined by the

A program that loads an executable program into main memory 15 called

The type of an object can be changed by type casting. 7 O®

(b) Write a single C++ statement that decrements the variable n and then adds itto A

(¢) What is the output from the following program? (2 marks)
#include <iostream>
using namespace std;
main ()

{ |
// cout << “hello, world” << endl; ﬂ"\kf
return ();

} S

(A) An electric heater consumes 3.6MJ when connected
the values of the power rating of the heater and the cu
product of Power (P) and Time (T) ;

(B) Write a C++ program using any iterative
below (ens wrife the displaye
Cragesun 1 _pmhl
changes at 1m increment. Wri d
carries the crates to 8 m




